
Subject: Number of obs and population size not the same
Posted by Johanne Elgaard on Mon, 01 May 2023 12:00:07 GMT
View Forum Message <> Reply to Message

I'm working with the 2014 Ghana DHS. I am trying to calculate frequencies and percentages after
weighting the data. My problem is that my number of observations are 945, but when using both
svyset and [iweight] I get a population size of 925 and a number of obs of 945 in the output. When
calculating the sum of the weighted frequencies together, it also adds up to 925. Can anyone
explain the difference between number of obs and population size to me?

Thank you:)

Page 1 of 1 ---- Generated from The DHS Program User Forum

https://userforum.dhsprogram.com/index.php?t=usrinfo&id=15693
https://userforum.dhsprogram.com/index.php?t=rview&th=12678&goto=26782#msg_26782
https://userforum.dhsprogram.com/index.php?t=post&reply_to=26782
https://userforum.dhsprogram.com/index.php

